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Using the tax table for single individuals on page 104, we can calculate Audrey's tax obligation:


   15% of $26,250



=
$  3,937.50


+ 28% of ($63,550 SYMBOL 45 \f "Symbol" 26,26,250)
=
  10,444.00


+ 31% of ($75,000 SYMBOL 45 \f "Symbol" 63,63,550)
=
    3,549.50










$17,931.00

(a)
Audrey's average tax rate is:



$17,931.00 
=
23.91%


  $75,000

(b)
Audrey's marginal tax rate is 31% since she will pay this amount on an additional dollar of income.
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Using the tax table for married couples filing a joint return on page 104g, we can calculate the Enders' tax obligation:


   15% of $43,850



=
$  6,577.50


+ 28% of ($105,950 Error! Bookmark not defined. 
Error! Bookmark not defined.43,43,850)
=
  17,388.00


+ 31% of ($130,000 SYMBOL 45 \f "Symbol" 105105,950)
=
    7,455.50










$31,421.00

(a)
The Enders' average tax rate is:



$31,421.00 
=
24.17%


  $130,000

(b)
The Enders' marginal tax rate is 31% since they will pay this amount on an additional dollar of income.
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a)
Marginal tax rate  from the tax table for single individuals on page 104, we find the rate Fred would pay on his next dollar of income, dollar $40,001, is 28%.
(b)
After-tax yields:


(1)
GM bond (taxable):




7% SYMBOL 45 \f "Symbol" 28% 28% (7%)
=
7%(1SYMBOL 45 \f "Symbol".28).28)
=
7%(.72)
=
5.04%

(2)
State of Texas municipal bond (not taxed):  5.50%


The State of Texas bond provides the higher after-tax yield to Fred.

(c)
Fred would be indifferent if the after-tax yields were the same.  This would be true at tax rate "t" where:



7%(1SYMBOL 45 \f "Symbol"t)
=t) 
=  5.50%



(1SYMBOL 45 \f "Symbol"t)
=t)   =
5.50
=   .7857






7.00



t
=
1SYMBOL 45 \f "Symbol".785.7857
=
.2143




=
21.43%
(d)
Fred's after-tax yield would be the same if the GM bond yielded "rGM" and:



rGM(1SYMBOL 45 \f "Symbol".28).28)   =   rGM(.72)   =   5.50%



rGM
=
5.50%
   =   7.64%





  .72
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a)
Marginal tax rate  from the tax table for single individuals on page 104, we find the rate Hilda would pay on her next dollar of income, dollar $90,001, is 31%.
(b)
After-tax yields:


(1)
Boeing bond (taxable):




7.50% – 31%(7.50%)   =   7.50%(1 – .31)   =   7.50%(.69)   =   5.18%

(2)
State of Washington bond (not taxed):  5.75%


The State of Washington bond provides the higher after-tax yield.

(c)
Hilda would be indifferent if the after-tax yields were the same.  This would be true at tax rate "t" where:



7.50%(1SYMBOL 45 \f "Symbol"t)
=t)   =   5.75%



(1SYMBOL 45 \f "Symbol"t)
=t)   =   5.75   =   .7667






7.50





t
=
1SYMBOL 45 \f "Symbol".766.7667
=
.2333




=
23.33%
(d)
Hilda's after-tax yield would be the same if the State of Washington bond yielded "rSW" and:



7.50%(1SYMBOL 45 \f "Symbol".31)t)
=
rSW


7.50%(.69)
=
rSW





rSW
=
5.18%
SOLUTION – PROBLEM 4B–5

(a) Jim's tax return would look as follows:


Gross income



Wages
$75,000



Interest¹
    3,000



Dividends
    1,000

$79,000


Less:  adjustments (none given)
           0

Adjusted gross income
  79,000


Less:  deductions²
    4,400


$74,600


Less:  exemptions³
    2,800


Taxable income
$71,800
Notes:
¹ The City of Los Angeles bond is a municipal bond not subject to federal tax.  Omit the interest from it.



² Jim is better off taking the standard deduction as it is larger than his itemized deductions (page 104).



³ Jim's one exemption is worth $2,800 (page 104).

(b) Using the tax table for single individuals on page 104, Jim's tax liability is:



   15% of $26,250

=
$  3,937.50



+ 28% of ($63,550 SYMBOL 45 \f "Symbol" 22, 26,250)
=
  10,444.00



+ 31% of ($71,800 SYMBOL 45 \f "Symbol" 55, 63,550)
=
    2,557.50






$16,939.00
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(a)  The Nolan's tax return would look as follows:


Gross income



Wages
$45,000



Proprietorship income
  40,000



Interest
    3,000



Net capital gains¹
    5,000

$93,000


Less:  adjustments SYMBOL 45 \f "Symbol" retretirement



plan contribution
    4,500

Adjusted gross income
  88,500


Less:  deductions²
  15,000


$73,500


Less:  exemptions³
  11,200


Taxable income
$62,300
Notes:
¹
The $2,000 capital loss can be used to offset the $7,000 capital gain, netting to $5,000.



²
The Nolans should use their itemized deductions since they far exceed the standard deduction of $7,350 (see page 104).



³
With four family members, the Nolan's exemption is 4 × $2,800  =  $11,200.

(b)  Using the tax table for married couples filing a joint return on page 104, the Nolans' tax liability is:



   15% of $43,850

=
$   6,577.50



+ 28% of ($62,300  43,850)
=
     5,166.00






$ 11,743.50


